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FA AR LLIAT 706 780 884| 1,664
AL BB LLIET 1,051] 1,230 1,328| 2,558
JLEEHT 2,313| 2,762| 3,026 5788
HEBCHT 40 39 56 95
A& B O HT 20 28 36 64
& <FHT 24 35 37 72
PE &0 5 <F T 36 45 43 88
FiENHT 557 625 694| 1,319
75 £718 N ET 119 108 111 219
b8 A BT 21 29 38 67
ako0=1: 29 35 40 75
B aET 32 44 35 79
1 HT 47 60 77 137
A HT 64 79 79 158
ZEHT 55 51 64 115
HMEFRET 43 46 44 90
F T 47 70 77 147
= RHT 46 44 52 96
R ET 32 42 46 88
Eoikanlidl 35 33 46 79
SR T 69 72 95 167
HaET 41 53 59 112
S FHHET 48 46 57 103
N 187 227 253 480
= A BT 1,080 1,212| 1,363| 2575
= H O 81 84 101 185
Fift = HT 12 11 11 22
it EHT 94 99 113 212
EHT 18 19 22 41
= EHT 44 54 56 110
H—TH 26 19 20 39
HWM=TH 28 37 36 73
HM=TH 920 100 116 216
HMmTH 33 38 41 79
HMATH 68 70 78 148
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HI<TH 72 71 81 152
A= HT 34 31 34 65
iF SR = BT 50 64 68 132
L XITHT 47 48 46 94
BRI HT 122 88 109 197
HNET 832| 1,088 1,172| 2,260
B [E T 102 113 111 224
75 it BT 225 258 270 528
FAHT 231 329 349 678
K HETE 40 50 60 110
W & BT 119 152 162 314
NEFErHT 233 223 256 479
KEHET 110 112 140 252
b 221 261 290 551
HiE H5 T 70 76 105 181
KIEET 20 23 25 48
% R T 9 11 13 24
e LLI BT 275 302 298 600
b, B T 65 66 71 137
7k B2 SFHT 152 181 201 382
i [ T 94 113 130 243
& H By 462 460 540 1,000
Y, e T 228 223 254 477
LT 429 490 528/ 1,018
[/ Et) 11,478| 13,159 14,547| 27,706
21 - ET 1,915 2208| 2488 4,786
7% T 83 107 110 217
FZHT 133 178 173 351
AR EHT 189 213 231 444
X 3BT 154 170 209 379
[/ Et) 2474 2966] 3211 6,177
% HHET 1,039 1,271 1273| 2544
Yk T 784| 1,001| 1,076] 2077
541 BT 100 139 161 300
FHT 1,221] 1561 1677] 3,238
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LI FH BT 225 280 282 562
% H 1L BT 1,205 1,436 1578| 3,014
FHHET 613 723 769 1,492
SR Ji7 ET 866] 1,117 1,156] 2273
[/ &) 6,053| 7,528] 7.972| 15500
=80T 61 96 101 197
T =488 967| 1,110 1,286 2,396
gl 1,046] 1,236 1427| 2,663
= HRET 267 371 396 767
KiTHET 34 57 62 119
= B Ey 21 25 22 47
F F EPHT 116 181 210 391
XiRERT 445 482 423 905
[/ &) 2,957 3558] 3927| 7485
1% F BT 194 266 278 544
A BT 46 67 82 149
=] 359 382 457 839
F ST 68 103 120 223
A 3k T 38 65 63 128
5L HT 215 309 319 628
Y A% T 35 58 69 127
FE L KHT 59 94 88 182
# AT 67 104 111 215
[/ Et) 1,081| 1448 1587| 3,035
K& <FHT 104 118 146 264
J\SEHT 138 211 237 448
Gi: 2N 123 154 171 325
5 ElFFET 749 864 837/ 1,701
=T 187 217 270 487
iz 51 72 73 145
FaHT 109 147 151 298
th SR ET 365 454 436 890
55 F] T 406 488 491 979
X8 FH &R <F AT 23 28 40 68
8 H &R F AT 43 48 71 119
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6 FH &R AL BT 1,043| 1,344 1418] 2,762
BR F0HT 68 80 93 173
[/ Et) 3,409| 4225 4434] 8,659
/N SRHET 4558| 5332| 5808 11,140
/NFRET 1,026 1277| 1318 2595
B i 559 704 732| 1,436
AT 329 378 398 776
=2 T 53 78 75 153
/NER T 351 484 485 969
Az RET 147 187 178 365
A Fh T 208 312 313 625
Jiti [58 =F HT 317 408 426 834
78 FH P ET 451 512 521 1,033
INRETER—TH 125 127 155 282
INRETER_TH 121 111 119 230
INRETER=TH 214 289 313 602
INKETEE—T B 24 25 27 52
INKBTFEZT B 51 59 65 124
INKBTEE=T B 71 86 80 166
[/ Et) 8,605 10,369 11,013 21,382
[ & ) 36,057| 43,253| 46,691 89,944
AN P 3 473 433 442 875
(& Ef) 36,530| 43,686| 47,133| 90,819




